HaumeHobaHue

Mo3uuusn

FR200.01.40.001 N'udponaxens

Busm M8x35 DIN912-10.9

Bunm M8x50 DIN912-10.9

lauka M8 DIN934-10.9

udpomMomop 310.12.01.03 (wnoxka I cmopoHb)

Jaznywka 02222N VOSS (M22x1.5)

Waada NL8 DIN25201

linoHka 6x6x32

N lW N -




HaumenoBbaHue Mo3uuus
6781002 A5 100x112x7 12 PU lpssecb MHuk | 2
FR400.01.03.001 Oce 3
FR400.01.03.002 Kpblwka nodwunHuKa [
Boam M16x50 DIN931-8.8 Zn 5
Modw 8120H 100x135x25 kopnyc 6
lWauda NL16 DIN25201 7




HaumMeHobarue Mo3uuus
Boam M12x45 DIN931-10.9 | 2
[auka M12 DIN934-10.9 3
lauda NL12 DIN25201 L




Mnaacmuxa 708269 ICO101 Movax

Mnacmuna 708269 1C0101 Movax

Pe3una 708269 IC0101 Movax




HaumeHobBbaHue Mo3uuus

FR200.01.03.101 Naacmuxa nodbeca 1

FR200.01.03.103 KocbiHka 2

FR400.01.03.102 Kopnyc nodwunHuka | 3







ModwunHuk 42613 TOCT 8328-75-02

HaumMeHobaHue Mo3uuusn

FR200.01.00.003 Kopnyc nodwunHuka | 5 2
Bunm M12x40 DIN912-10.9 6 16
Wadda NL12 DIN25201 8 16







FR200.01.02.102 [ledanaHc

FR200.01.02.101 Ban




HaumeHoBaHue Mo3uuusa | Kon-6o
Bunm M20x60 DIN912-10.9 | 2 14
lladda NL20 DIN25201 3 14




HaumeHobaHue

0-R .NBR 70SH M D.011,00x2 - ORM

VAG353.104004 VPDE-F010 udpo3amok

Adanmep 4500-04

Buxum M6x40 DIN912-12.9

3aznywka VSTI-4EDCF Parker

Wauda NL6 DIN25201

O ||~ Wi~

| =N =N




HaumeHnobaHue

Mo3uuus

FR400.01.02.001 N'ydka cmauuoHapHas

L

FR400.01.02.003 Bmynka ¢ukcupywwas

Bunm M24x180 DIN912-12.9

— — | —

Wadda NL24 DIN25201

5
/i
8

—

GOE®




HaumenobaHue MNo3uuus
6503680 TR 115x125x1,7 PU Konbuo onopHoe | 14
FR200.01.04.001 Kpeiwka onopHas 8
FR400.01.02.002 lNydka wmoka 9
Bunm M10x35 DIN912-10.9 10
Bunm M12x40 DIN912-10.9 1
Waada NL10 DIN25201 12
Wadda NL12 DIN25201 13
2 13 13

11






HauMeHoBaKue

Mo3uyus

Kon-bo

6420175 OR 102.0x4.0 NBR 70 Konbuo

6420359 OR 108.0x2.5 NBR 70 Konbuo

6771120 GA 80x90x7 10 NBR lpasec MHuUK

6810800 | PWR 80x86x12.8 (AGI) Konbuo Hanpabaswwee

FR200.01.04.221 Kpblwka nepedHas

IDW 80x100%12 Ynnomuexue

SF-180.85.60 MoBwunHUK CKONbXEHUA




HaumeHoBaHue Mosuuus | Kon-Bo
6412030 OR 70.0x5.0 NBR 70 Konbuo 1 1
6541053 TPM 110x85x22.4 YnnomHeHue 13 1
6821100 E-PWR 110x104x12.8 Konbuo Hanpabnwowee | 14 2
FR161.02.02.001 MNopweHb 15 1
FR161.02.02.002 Lmok 80 16 1
Buxum M6x10 DIN914 45H 17 1

O @ 4

®® @




